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Note: 1. This question paper contains 8 questions you have to answey any 4 from these.

2. Each guestion is of 17.5 marks.

Que 1 {(a) State laws of Limit and give their important results. {7.5)

(b) Solve the following (10)
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Que2 @ If f(x)=x then find the value of ling
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(b} Solve the following sums. (10)
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Que 3 (2) Define following terms (7.3)
(1) Empty Set (2) Power set (3) Difference of two sets (4) Symmetric difference set.
(b) HU={1,2,3,4,5,6,7}, A={1,2,3}, B={2,3,4} , C={3,4,5,6} then find (10)
(DAX BUNAX C(iii)An BN C(iv)AuBLC

208 325 194

‘Que 4 (a) Show that |152 202 105|=0 (1.5)
156 123 89

(b) Using Cremer’s rule solve. (10

3IX-2Y=55X+4Y =1
Que 5 (a) Define following terms (7.5)
(1) Equal Matrices (2) Square Matrix (3) Syminetric Matrix
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(If A= 2 s then find A+ A" + 47", (10)

1 2]
Que 6 (a) A =[3 4 J then find A* ~54-271 (7.5)
(b) Using Matrix method solve the following, (10)
34 -5 =1
X+2¥=4
Que 7(a) Explain in brief about Interpolation and Extrapolation. (7.5)
(b) From the following information for X=30 find the value of ¥, (10)
X 10 |20 25 35 40
Y |2 4 45 |53 6
Que 8 () From the following information find Ay, A V& Yy A P, A Vs (1.5
Age 20 30 40 50 60
No Of 130 160 | 180 220 250
Persons
(b) Find Y for X=20 from the following data. (16)
X 14 18 22 16 30 34
Y 30 35 42 51 62 75
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